Tvlo—00b 0 lo—o& b0 Phép cong 1én dén 1000 (hang ngang)

Tén:_ Ngaythang:_ Piém:__
714+ 697 = 500+ 6=
670 + 599 = 393 + 646 =
863 + 986 = 725 +259 =
126 + 783 = 558 +143 =
942 + 295 = 218 + 676 =
956 + 939 = 78 + 396 =
465 + 649 = 60 + 151 =
483 + 476 = 288 + 116 =
453 +40 = 773 + 807 =
320+247 = 734+ 162 =
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olo—0b ol—obio Phép cong 1én dén 1000 (hang ngang)

Tén:__ Ngaythang: _ Piém:____
714+ 697 = 1411 500 + 6 = 506
670 + 599 = 1269 393 + 646 = 1039
863 + 986 = 1849 725 + 259 = 984
126 + 783 = 909 558 + 143 = 701
942 + 295 = 1237 218 + 676 = 894
956 + 939 = 1895 78 +396 = 474
465+ 649 = 1114 60 + 151 = 211
483 +476 = 959 288 + 116 = 404
453 + 40 = 493 773 + 807 = 1580
320 + 247 = 567 734+ 162 = 896
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